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QUESTION 1

Which four options apply to the "Lead Time" mode? (Choose four.)

A. Lead time can be specified in multiple ways.

B. The item is promised on the requested date irrespective of availability.
C. Calendars and transit time constraints are respected.

D. No supply availability search is performed.

E. The order promising engine does not generate any pegging.

Correct Answer: ACDE

QUESTION 2

Your customer wants to use Oracle Integration Cloud Service with Order Management to communicate business
events. Select the option that shows the correct order in which the steps should be executed.

A. Manage business event trigger points, create an integration, create a connection, and track business events.
B. Track business events, manage business event trigger points, and create an integration.

C. Manage business event trigger points, create a connection, create an integration, and track business events.
D. You cannot use Oracle Integration Cloud service with Order Management to communicate business events.
E. Create an integration, create a connection, and track business events.

Correct Answer: C

QUESTION 3

Identify the transformation type in which a transactional item attribute is used for transforming a product. The
transformation may be added to the existing product or replace the product on the sales order for a CTO item.

A. Attribute to Product
B. Product to Product
C. Context to Product
D. Attribute to Attribute

Correct Answer: A
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An attribute-to-product transformation uses transactional attributes to transform an attribute to an item number. It can
add the transformation to an existing item or replace the item that the source order references. Assume your company
receives orders for an MP3 player that includes a Color attribute and a Size attribute, and that you must use a
combination of these attributes to reference an item number. In the following example, a transformation rule transforms
the Color and Size attributes of the Mini Plus item to the VIS481 item. Order Management displays VIS481 on the order
line.

QUESTION 4

Identify the task that the seeded Warehouse Operator role can perform.

A. monitor and release sales orders for picking in the warehouse

B. search for a pick slip and confirm it

C. process and confirm outbound shipments

D. generate outbound shipping documentation

E. generate pick slips for picking material for outbound material movement
Correct Answer: B

The warehouse operator does the following work:

Pick loads, including monitoring and performing the picking activity, and create pick slips for outbound shipments,
replenishment, and requisition.

Search for a pick slip and confirm the pick slip in a single action.

QUESTION 5

Identify two valid use cases where a process assignment rule is defined to assign an orchestration process. (Choose
two.)

A. when you require multiple orchestration processes for one fulfillment line
B. when you require one orchestration process for one fulfillment line

C. when you require one orchestration process for sales order lines

D. when you require one orchestration process for multiple fulfillment lines

Correct Answer: AD
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